STXR
N=WVh &

T
HE;a—k 73017
# XL FRBC-100MS
HE;a—k 73018
# I FRBC-120MS
AMma—Fk 73019
A Ik FRBC-120TS4
Hema—k 73020
& X FRBC-120TS2

[ EAEO—EIclE. 25 YNEEOROBRABIET, }

HIASHIHIA Y —







#in O ZTESTUZ DN T

1. i ZHEXOBRIE, TREE %2 2 <
7ZE0,

O & 4

o& K

O &6 in4s i

O s 75

O
S A AR T 3 i R FS K OV RS A
DF—ALTL— MIFERLTWET,

2. EEMoET . X1k, UFOZ &aFkL
TBY £,
O - - -vahd MHABAENTHDHH
il 2 12 &0 B e
- T oA RICEENDEL CTH
b CIERHERS L7 v dh

FHEER i D HERG R IZ DUV T

Z ORLE ORHE AR S O HEAGELR - (I
X, BEETHE 0% 9FETT, AL, G
RN TH > TH o FFEREBEL 12DV T
REETHRSECWEESHEALH Y £7,

RS S O HERE | ARV I 13 _ERE DG 4R
RO T LETA, EEEREE#ETH - T
b, AL O TEEE R B o IS5 T B
L O IZHONWT THRSETWEEE ET,







N=lVhy & FRBC-100MS
No. | #BinEH b4 Hom H ¥ No. | #BihEH b4 o H i
1 |ZM100MS1 (A A > T L—1 1 [2BC100-11000R 51 |ZM100MS51 | Af7F > b 8 |M16  (S45C)
2 |ZM100MS2 |V 781 1 |2BC100-13610 52 |ZM100MS52 |1 =7 FH& [E & K 2 |1BC120-43540
3 |ZM100MS3 | A AL b 4 |M12Xx30 (8T) 53 |ZM100MS53 | 7'U 2= 7L 2 |M6-ATY
4 |ZM100MS4 54 |ZM100MS54 [ANARL K &xy 4 [M12Xx80 (11T)
5 |ZMI0OMS5  |AF VU v v — | 4 [MI2 55 |ZM100MS55 | Af7F > b 4 |M12  (S45C)
6 [ZM100MS6 | AfF v b 4 |M12  (S45C) 56 [ZM100MS56 |37 H L 4 [1BC120-43261
7 |ZM100MS7 |3 Y iR Eh 1 |1BC100-20010 57 [ZM100MS57 |%ZFH R 4 [1BC120-43271
8 [zM100MS8 |AF v TV 5 |S-40 58 [ZM100MS58 |74 79 R L b 24 [M10Xx20 (11T)
9 |ZMI00MS9  [~7 U7 1 |UCFS308 59 [ZM100MS59 |l IR~ — 2 1 |1BC100-14270
10 |ZM100MS10 [/ AL K 4 |M16X45 (8T) 60 [ZM100MS60 |fllfHz R v f+iF 7 > 271 2 |1BC100-14280
11 [ZM100MS11 | A FV 7T v v — | 4 |M16 61 |ZM100MS61 | <AL K 4 |M8%20 (8T)
12 [ZM100MS12 | AFF v b 4 |M16  (S45C) 62 |ZM100MS62 | A F U7 U v v — | 4 (M8
13 [ZM100MS13 |27 =4 | #80A 2 |1BC120-20020 63 [ZM100MS63 A7 b 4 |M8  (S45C)
14 [ZM100MS14 |47 %— 2 |12X8x40 64 |ZM100MS64 - |SED & — 8 |6
65 [ZM100MS65 A7V > 2T v v — | 8 [M6
66 |ZM100MS66 |7<F7 > ~ 8 |M6  (S45C)
67 |ZM100MS67 |BhfE = 2 4 [KA-20
68 |ZM100MS68 |H5A% 0 B IE#K 2 [1BC121-80010
69 |ZM100MS69 [/~ AL K 4 [M12Xx35 (8T)
70 [ZM100MS70 [T > % — 4 |M12
21 |ZM100MS21 |3 v fiEEhifih 1 [1BC100-20410 71 |ZM10OMST7l |AF VT T vy — | 4 [M12
22 [ZM100MS22 |3& V) fEEhdlil 7 — A 2 |1BC120-20420 72 |ZM100MS72 [/NFF > K 4 |M12  (S450)
23 [ZM100MS23 |3 b fEEhiil 7 7 — B 1 |1BC100-20430 73 [ZM100MST73 | =& H /3—A 2 [2BC121-14510
24 |ZM100MS24 74 [ZM100MS74 | = 27 E 2A 2 |2BC121-14520
25 [ZM100MS25 |27 =4~ ~ #80B 2 |1BC120-20460 75 |ZM100MS75 | kT Z/hR 10 |M8 X 25
26 |ZM100MS26 | KT A X7V v 2 35%39 %40 76 |ZM100MS76 | A F V> 7T v v — | 10 (M8
27 |ZM100MS27 |60 T va v 2 |1BC120-20500 77 [ZM100MST7  [AfaF > b 10 [M8  (S45C)
28 [ZM100MS28 [#1Y &' 2 | 8X60
29 [ZM100MS29 |F > a v AmL b A 2 |1BC120-20800
30 [ZM100MS30 |*FD v v — 2 |M16
31 |[ZM100MS31 |2 X7 2 7Y 7 2 |1MS600-47030
32 |ZM100MS32 [AFAF+ v K 2 [M16  (S45C)
34 |ZM100MS34 |24 T\ 10 [1BC100-20200R
35 |ZM100MS35 [£V IRH7 7 vt 10 [1BC121-20350
36 |ZM100MS36 |7 U A= 7/l 20 (M6-ATY
37 |ZM100MS37 |AF VU > 7T v v — | 40 (M8
38 |ZM100MS38 [~ K 40 M8 (S450)
39 |[ZM100MS39 |60 22> X7 F=—> | 2 [1BC100-20390
40 |ZM100MS40 |FA =7 1 [1BC100-43002R
41 (ZM100MS41 | GIHr A 4 [1BC120-43242
42 [ZM100MS42 | RAFY Z AL b 16 [M10X20 (11T)
43 [ZM100MS43 | F 1 7 B4 B 1 |1BC120-43510
44 |ZM100MS44  [FA 7 B A 1 |1BC120-43500R
45 [ZM100MS45 |ERIH 7 > > = 2 [sA1-30B
46 |ZM100MS46 | AF > 7V v 7 2 |S-30
47 |ZM100MS47 | AF w7V 7 2 |C-47
48 |ZM100MS48 [/ RV b 2 |M20X80 (8T)
49 [ZM100MS49 | AT > b 4 [M20  (S45C)
50 |ZM100MS50 |Af AL b 4 |M16x85 (11T)




7

..fa/f
,@r‘/, :

N\




N=lVhy & FRBC-100MS
No. | #BinEH e BE B ¥ No. | #BihEH e | Bl ¥
201|ZM100MS201 [T F = » k 1 [1BC120-20730 251|ZM100MS251 | F F = v k7 /38— 1 [2BC121-14200R
202(ZM100MS202 | AT — 1 |12X8X50
203|ZM100MS203 |7 F = » Rk A 1 [1BC120-22001R
204|ZM100MS204 [T F = » %V B 1 [1Bc120-22101 254|ZM100MS254 | = 2 Hy 78— 1 [2BC121-14240
205|ZM100MS205 | KZ A X7 Y v 4 [40X 44X 20 255|ZM100MS255 [ (+) 7 7 » bRV K 3 |M6x16 P=3
206|ZM100MS206 [ 7)) 2= 7)1 6 |M6-BY 256|ZM100MS256 [T+ o % — 3 M8
207|ZM100MS207 [ A7V v 70 » v — | 1 |M16 257|ZM100MS257 | 7 5 > F » b 3 |M6
208|ZM100MS208 [/<44F » 1 [M16 (S45C) 258|ZM100MS258 [z > A 1 [1BC120-22622
209|ZM100MS209 | AT~ 7V v 7 2 |S-40 259|ZM100MS259 | = KB 1 [1BC120-22612
210|ZM100MS210 |-_7 Y > 7 1 [UcFs308 260|ZM100MS260 [z > RC 1 [1BC120-22631
211|ZM100MS211 | AR/ b 4 |M16x45 (8T) 261|ZM100MS261 [T b 1 [M24 (PL.B) HxvY
212|ZM100MS212 [ A7V v 70 » v — | 4 |M16 262|ZM100MS262 [T v b 1 [M24 (PL.5) AExv
213|ZM100MS213 [N £ b 4 |M16  (S45C) 263|ZM100MS263 |75 LA B > 2 |1BC121-11890
214|ZM100MS214 [T F = v h 7 w7 1 [1Bc121-22301 264|ZM100MS264 |#A%EE > 2 |@ 15
215|ZM100MS215 [ K A =T U > 7 2 |20X23%25 265|ZM100MS265 | ~— A 1 [2BC120-14310
216|ZM100MS216 |7 F = v k3% B 2 |1BC120-22260 266|ZM100MS266 | b 7 A /R 2 |M6 %20
217|ZM100MS217 |7 Y > 1 [ucHP208 267|ZM100MS267 |3FET 2 4 — 2 |M6
218|ZM100MS218 [_7 U o 7/ 2~8—H— | 1 |1BC121-22140 268|ZM100MS268 [ 2 7V > 7T » v — | 2 |M6
219|ZM100MS219 [N £ AL b 2 |M14X150 (8T) 269|ZM100MS269 [/N£7F > |k 2 |M6  (S45C)
220|ZM100MS220 [V » & ¢ — 2 |M14 270|ZM100MS270 [ A ~2——B 1 [2BC120-14330
221|ZM100MS221 (A 7Y v 70wy — | 2 |M14 271|ZM100MS271 [#F AL k 2 |M3Xx25
222|ZM100MS222 [ <447 > + 2 |M14  (S45C) 272|ZM100MS272 |7 F > F v bk 2 |M3
223|ZM100MS223 | 5 F = » MMil#g 1 [2BC121-23100R 273|ZM100MS273 [ 2 ~2—H—A 2 |2BC120-14320
224|ZM100MS224 [ <4781+ 6 |M12X35 (8T) 274|ZM100MS274 | /%> F > §iE 2 |P-19
225|ZM100MS225 [ A 7Y v 70 » vy — | 6 [M12 275|ZM100MS275 | F AR/ b 8 [M3x12
226|ZM100MS226 [<447 > + 6 |M12 (S45C) 276|ZM100MS276 | 7 5 > F v |k 8 (M3
227|ZM100MS227 |7 F = » h# T —71L— 1 |1BC120-23000 277|ZM100MS277 [/~ Kb 2 |TT0-10-120B
228|ZM100MS228 | A4 AR/ k 2 |M10X30 (8T) 278|ZM100MS278 [ A 7Y v 7T » v — | 4 |M6
229|ZM100MS229 [T » o — 2 |M10 279|ZM100MS279 [T > k 4 |M6  (S45C)
230|ZM100MS230 | A F Y > 7T » v — | 2 [MI0 280|ZM100MS280 [#i = 7= LR (fH) 2 |TLS-100RX
231|ZM100MS231 | AT b 2 |M10  (S450) 281|ZM100MS281 [F-~/h x> 12 |M4X 10
232|ZM100MS232 | AF > 7V o 7 1 [s-35 282|ZM100MS282 [ A 7V v 7' U » v — | 12 |M4

283|7ZM100MS283 | AT > b 6 |M4

234|ZM100MS234 [ K A X7 U > 7 6 |30X34%20
235|7ZM100MS235 |7 F = v b v K A 1 [1BC120-22500
236|ZM100MS236 [ v K2 & L 1 [1BC120-22570
237|ZM100MS237 | 7'V A = » 7L 1 (Me-A%Y
238|ZM100MS238 [ F = » R U > 2”7 1 [1BC121-22400
239|ZM100MS239 |5 F = hVU 7 v | 2 |1BC121-22800
240|ZM100MS240 [ A 7V > 70 » v — | 2 [M12
241|ZM100MS241 [ R T 2 |M12X30 (8T)
242|ZM100MS242 [ RZ A _T7 Y > 7 2 |35X39X25
243|ZM100MS243 [ a%E e v 1 [1BC121-43403
244(ZM100MS244 [fAZE L > 1 |o 25H
245(ZM100MS245 |G I 45 1 |1BC121-22200
246(ZM100MS246 |iisBh LN & 1 |1BC121-22700
247|ZM100MS247 | R A X7 Y > 7 2 |20%x23%25
248|7ZM100MS248 |##isfs Ik & o 1 |1BC121-22900
249|7ZM100MS249 |F v & L | 5%30
250|ZM100MS250 |7 F = » R 3% A 2 |1BC120-22240







N=lVhy & FRBC-100MS
No. | #BinEH e BE B ¥ No. | #BihEH e | Bl ¥
401|ZM100MS401 |4 A % > 2 1 [2BC100-60003R 451|ZM100M451 [T > k 4 |M8  (S45C)
402|ZM100MS402 [# 27 > = > 2 hL—F | 1 |SFC 10-150 452|ZM100M452 (/X179 /83— 1 [1BC121-14000
403|ZM100MS403 [ R L b 4 [M10%25 (8T) 453|ZM100M453 [ HR Lk 4 |M8X20 (8T)
404|ZM100MS404 [ 2 7Y v 7T w2 — | 4 |M10 454|7ZM100M454 | Z SV > 7T v v — | 4 (M8
405|ZM100MS405 [T+ o % — 4 [M10 455|ZM100M455 [z ha—LRy 7 % | 1
406|ZM100MS406 =7 7' U —4—  (FA-35 1 |1BC120-60260 456|ZM100M456 |FEFR /~—F A 1
407|ZM100MS407 |zt (8-160L) 1 |1BC120-60270 457|ZM100M457 |ERL SV 7 HAN—3 A | 1
408(ZM100MS408 |t S AL k 2 |Mi2x35  (fHJ@dh) | | 458|ZM100M458 | ~—FK A 1
409|ZM100MS409 [/ <> F > 4 |@ 12.5X24Xt1.5 | |459|ZM100M459 |FE#)E— &% — 1 [=#H200V - 5.5kW
410|ZM100MS410 | /SR b 2 |M12X25 (8T) 460|ZM100M460 |/SfE7ARL b 3 |M10X45 (8T)
411|ZM100MSA411 [ V7 v yv=0 KP-C-02 | 2 [@ 13.3X20.5Xt2 | [461[ZM100M461 |27V > Z T v v — | 4 |MIO
412|ZM100MS412 | KL v 75 7 1|1 462|ZM100M462 | AT b 3 |M10  (S45C)
413|ZM100MS413 [ R PIAH T /LR 1|1 463|ZM100M463 |F=—> T > 7Y 7 | 1 [5016 ¢ 38
414|ZM100MS414 [JHET & 7 5 — 1 [r-09 17 464|ZM100M464  |[F=—>H v 7V 7 | 1 [5016 @ 25
415[ZM100MS415 [JHE AR — A 1 [1"x 1200 (05-05) 70 | |465|ZM100M465 |F=—> A > F Y7 | 1 |5016 WF o= —>
416|ZM100MS416 [ 7 > + 6 |ML12 (S45C) 466|ZM100M466 |7 K> 7 1 [PC-3 RM67
417|ZM10OMSALT (AU 7D e — | 6 |M12 467|ZM100M467 (R T 75 ¥ L|rkHm 17
418|ZM100MS418 [T » o % — 6 |M12 468|ZM100M468 |R>F7 5 1WA 171/4
419|ZM100MS419 [Fo 7 > U > 4 —B 1[5 469|ZM100M469 (v > 7 A7 U =— (ff| 8 |M10x 45 (11T)
420{ZM100MS420 |F+ 72U v & —AS 1 | Hid) 470(ZM100M470 |ASFA 7RV b 2 |M12x45 (8T)
421|ZM100MS421 |2 F > FY o 7 4 |S-35 471|ZM100MA4T1 [T v o % — 2 |M12
422|ZM100MS422 |l E/$A 7 1 [1BC100-60200 472|ZM100MAT2 (R FY > 70 v — | 2 [M12
423|ZM100MS423 [/3A /3 K 20A 2 |1BC121-60240 473|ZM100M473  [Nf5F > B 2 |M12  (S45C)
424|ZM100MS424 [ SR L b 4 [M10X 16 (8T) 474|ZM100MAT4  [JHET & 7 5 — 1 |1-34 17
425|ZM100MS425 [ A 7Y v 70 » v — |4 |M10 475|ZM100MA475 [JHIET & 7 & — 2 |1-34 171/4
426|ZM100MS426 [T » o ¥ — 4 |M10 476|ZM100MAT6 |7 > 7TV > I J1 73— 1 [1BC100-14260
427|ZM100MS427 [JHE AR — A 1 [374x 750 (05-05) 140 | | 477|ZM100M477 |NfGA/L b 4 |M8x20 (8T)
428|ZM100MS428 | — A 1 [1/2x 1500 (05-05) 35| |478(ZM100MAT8 |2 FV > 7T v v — | 4 |M8
429|ZM100MS429 [HE A — A 1 [374x 750 (05-05) 140| | 479|ZM100M479 [V v ¥ % — 4 M8
430(ZM100MS430 [ A — A 1 [374x 1000 (05-05) 140| | 480|ZM100M480 |/ EAR— A 1 [17x 730 (05-05) 140
431|ZM100MS431 [JhEAR— A 1 |3/4x 750 (05-05) 140| [481|ZM100M481 | EAR— A 1 |1"1/4x 900 (05-05) 35
432|ZM100MS432 [JHIET & 7 % — 4 [1-34 3/4 482|ZM100M482 | 2 Z —F L & §) Jyix 1
433|ZM100MS433 [JHET & 7 4 — 1 [TR-34-A 3/4x 1/2||483|ZM100M483 |+ 7oA F~/hx e 4 [M4ax25
434|ZM100MS434 [JHET & 7 & — 2 |1-36 3/4 484|ZM100M484 [T » o % — 4 |4
435(ZM100MS435 |MET &# 7% — 1 |T-34 1/2 485[ZM100M485 | AT Y v 7T v vy — | 4 |M4
436|ZM100MS436 |JHET & 7 % — 2 |TR-09-B 3/4X1” | |486|ZM100M486 |~<fa7F > bk 4 |4
437(ZM100MS437 |MiFET & 7" 2 — 2 |T-09 3/4 487|ZM100M487 |E&hE—% —H —xA| 1
438|ZM100MS438 [T = v 7)1 1 (3/4 488|ZM100M488 [ 7R /L k 1 [M10%30 (8T)
439|ZM100MS439 [ #EF—= 1 [3/4
440(ZM100MS440 |JTHEAA T A 1 |GLS-M1
441|ZM100MS441 [THEA A v F B 2 |GLS-S1
442 ZM100MS442 |+FoRAFF U hp 6 (M4X16
443|ZM100MS443 [F-T v ¥ — 6 |M4
444|ZM100MS444 [ A7V 70 v v — | 6 |M4
445|ZM100MS445 [ <447 > - 6 |M4
446|ZM100MS446 |47 7 L— bk 1
A47|ZM100MS447 (U U —Z7 17 1
448|ZM100MS448 RS L7 1
449|7ZM100MS449 [F v v T A7 U 2— 4 M8X60 (11T)
450|ZM100MS450 [ A 7V v 70 vy — | 4 |M8




AZ—=T I REHE

/504

5m\\\ —

Ry 7 AR

51 512 513
NN

< < < ||

O oo j




N=lVhy & FRBC-100MS
RY =T N A I ERENER
No. | B Hh HE H ¥ No. | ¥BiLES i Ha B
501|ZM100MS501 [¥—% v a7 7 #— 1 [CB CP31FM/5
502|ZM100MS502 | & A ~— 1 [TR MS4SY-AP
503|ZM100MS503 [ 4 A ~—> 4 v L [TR¥ % > k TP48X
504|ZM100MS504 IR T » 7 1 |AH25-ZMWMS
505|ZM100MS505 |BhEE % % v 1 [AHX046
506|ZM100MS506 [ON PBS 1 |AH25-LR10M
507|ZM100MS507 [OFF PBS 1 |AH25-FRO1
508|ZM100MS508 | 7T 7R v 7 & 1 [P20-45
509|ZM100MS509 |AAENAE S b, 1 [ELB EG33CM
510{ZM100MS510 |AAENHEER i 1 |OL TR-N2H
511[ZM100MS511 |AAENHEER & 1 |MCM SC-4-0 200 la
512|ZM100MS512 |hAEh A% 1 |MCA SC-4-0 200V 1b
513[ZM100MS513 |AAENHEER & 1 |MCS SC-05 200V lalb
514|ZM100MS514 [ /XD —H 75 A 1 [PS3L-F12AF




_10_



N=lvhvy %

FRBC-120MS

No. | #BinEH b4 Hom H ¥ No. | #BihEH e | Bl ¥
1 |ZM120MS1 (A A>T L—1 1 [2BC120-11000R 51 |[ZM120MS51 | Af7F > b 8 |M16  (S45C)
2 |ZM120MS2 |V 7oL 1 |2BC121-13610 52 |ZM120MS52 |1 7 FHH& E & K 2 |1BC120-43540
3 |ZM120MS3 | A AL b 4 |M12Xx30 (8T) 53 |ZM120MS53 |7V A= 7L 2 |M6-ATY

4 [ZM120MS4 | 'ED v v — 4 [M12 54 [ZM120MS54 |7RfA RV b &Ry 4 [M12Xx80 (11T)
5 |ZMI120MS5  |AF VT U v v— | 4 [MI2 55 |ZM120MS55 | Af7F > b 4 |M12  (S45C)
6 [ZMI120MS6 | AfF v b 4 |M12  (S45C) 56 [ZM120MS56 |37 H L 5 |1BC120-43261
7 |ZM120MS7 |3 Y R 1 |1BC120-20010 57 [ZM120MS57 |7 H R 5 [1BC120-43271
8 [zM120MS8  |AF v TV LT 7 1S40 58 [ZM120MS58 |74 79 KL b 30 [M10Xx20 (11T)
9 |ZMI20MS9 [_7 U7 1 |UCFS308 59 [ZM120MS59 |l fHIAE~— 2 1 |1BC100-14270
10 |ZMI120MS10 [/ AL K 4 |M16X45 (8T) 60 |ZM120MS60 |HilfEAzH Y i3 7 > Z /4 2 [1BC100-14280
11 [ZM120MS11 | A ZFV 7T v v — | 4 |M16 61 |ZM120MS61 | AF AL K 4 |M8%20 (8T)
12 [ZM120MS12 | AFF v b 4 |M16  (S45C) 62 |ZM120MS62 | A F U7 U v v — | 4 |M8

13 [ZM120MS13 |27 =4 v | #80A 3 |1BC120-20020 63 |ZM120MS63 | AfTF v k 4 |M8  (S45C)
14 [ZM120MS14 [T % — 3 |12X8x40 64 |ZM120MS64 - |SED & — 8 |6

15 [ZM120MS15 |iEV #7T > o a v 1 [1BC121-20601 65 |ZM120MS65 | A7V > 7Ty ¥— | 8 |M6

16 [ZM120MS16 | KT A X7 Y v 7 2 |45X50% 20 66 |ZM120MS66 |~<faF > k 8 |M6  (S45C)
17 |ZM120MS17 |70 A= 7 )L 1 |Me-A% 67 [ZM120MS67 |BfidE = A 4 |KA-20

18 |ZM120MS18 [/<F AL K 2 [M12Xx40 (8T) 68 [ZM120MS68 |#573 V) BA 14K 2 [1BC121-80010
19 [ZM120MS19 |27V v 7D v v — | 2 |MI2 69 |ZM120MS69 | AR K 4 [M12x35 (8T)
20 |ZM120MS20 |AfaF v b 2 |M12  (S45C) 70 [ZM120MS70 [T > 4 — 4 |M12

21 [ZM120MS21 |3 Y RESEh i 1 |1BC120-20410 71 [ZM120MST1 | AZ Y 7T v — | 4 |M12

22 [ZM120MS22 |3: ) fEdEhdhl 7 — A 2 |1BC120-20420 72 |ZM120MS72 [NFF > K 4 |M12  (S450)
23 |ZM120MS23 |20 #t@hih 7 — B 1 |1BC120-20430 73 [ZM120MST73 | =4 H /X—A 2 [2BC121-14510
24 [ZM120MS24  |3% 0 fEEhdh A 7 —C 1 |1BC120-20440 74 |ZM120MS74 |2 AP S 2 A 2 [2BC121-14520
25 [ZM120MS25 |27 =4~k #80B 3 |1BC120-20460 75 |ZM120MS75 | kT AR 10 |M8 X 25

26 |ZM120MS26 | KT A X7V v 3 |35X39 %40 76 |ZM120MS76 |AF V7T v v — | 10 (M8

27 |ZM120MS27 |k0W T va v 2 |1BC120-20500 77 |ZM120MS77 | AT v R 10 [M8  (S45C)
28 [ZM120MS28 [#1Y &' 2 | 8X60

29 [ZM120MS29 |5 > a v AmL b A 2 |1BC120-20800

30 |[ZM120MS30 |FU w i/ — 3 |M16

31 |[ZM120MS31 |2 X7 27 Y 3 |1MS600-47030

32 |ZM120MS32 |AfaF v b 4 [M16 (S45C)

33 |ZM120MS33 | T > 2 AR bk B 1 [1BC120-20900

34 |ZM120MS34 |24 T 12 |1BC120-20200R

35 |ZM120MS35 £V IRHT7 7 vt 12 [1BC121-20350

36 |ZM120MS36 |7 U A= /L 36 |M6-AT

37 |ZM120MS37 |AF V7T v v — | 72 (M8

38 [ZM120MS38 [AfaFw b 72 |M8  (S45C)

39 |[ZM120MS39 |60 22> X7 F=—> | 3 [1BC120-20390

40 |ZM120MS40 I 7 1 [1BC121-43002R

41 |ZM120MS41 | EiKr H) 5 |1BC120-43242

42 [ZM120MS42 | RATY Z AL b 20 |M10X20 (11T)

43 [ZM120MS43  |F 1 7 B4 B 1 |1BC120-43510

44 |ZM120MS44  [FA 7B A 1 |1BC120-43500R

45 [ZM120MS45 |ERIHI 7 > > = 2 [sA1-30B

46 |ZM120MS46 | AF > 7V v 7 2 |S-30

47 |ZM120MS47 | AF w7V 7 2 |C-47

48 |ZM120MS48 [/ RV b 2 |M20X80 (8T)

49 [ZM120MS49 | AT > b 4 [M20  (S45C)

50 |ZM120MS50 | <AL b 4 |M16x85 (11T)

_11_




08e

_12_



N=lvhvy %

FRBC-120MS

No. | #BinEH e BE B ¥ No. | #BihEH e | Bl ¥

201|ZM120MS201 [T F = » k 1 [1BC120-20730 251|ZM120MS251 | F F = v k7 /38— 1 [2BC121-14200R

202(ZM120MS202 | P17 — 1 [12x8X%50

203|ZM120MS203 |7 F = » Rk A 1 [1BC120-22001R

204|ZM120MS204 [T F = v %V B 1 [1Bc120-22101 254|ZM120MS254 | = 2 Fy 78— 1 [2BC121-14240

205|ZM120MS205 | K A X7 Y v 4 [40X 44X 20 255|ZM120MS255 [ (+) 7 7 » bRV K 3 |M6x16 P=3

206|ZM120MS206 [ 7)) 2= 7)1 6 |M6-BY 256|ZM120MS256 [T+ o % — 3 M8

207|ZM120MS207 [ A7V v 70 v — | 1 |M16 257|ZM120MS257 |7 5 > F » b 3 |M6

208|ZM120MS208 [<44F» 1 [M16 (S45C) 258|ZM120MS258 [z » A 1 [1BC120-22622

209|ZM120MS209 | 2 F v 7 U > 2 |S-40 259|ZM120MS259 | = KB 1 [1BC120-22612

210|ZM120MS210 |-_7 Y > 7 1 [UcFs308 260|ZM120MS260 [z > RC 1 [1BC120-22631

211|ZM120MS211 | A AL b 4 [M16x45 (8T) 261|ZM120MS261 [T b 1 [M24 (PL.B) HxvY

212|ZM120MS212 [ A7V v 70 » v — | 4 |M16 262|ZM120MS262 [T v b 1 [M24 (PL.5) AExv

213|ZM120MS213 [N f4F > b 4 |M16  (S45C) 263|ZM120MS263 |75 LiAAr B 2 |1BC121-11890

214|ZM120MS214 |7 F = v h 7 w7 1 [1Bc121-22301 264|ZM120MS264 |#AEE > 2 |@ 15

215|ZM120MS215 [ K7 A =T U > 7 2 |20X23%25 265|ZM120MS265 | ~— A 1 [2BC120-14310

216|ZM120MS216 |7 F = v k3% B 2 |1BC120-22260 266|ZM120MS266 | b 7 A /R 2 |M6 %20

217|ZM120MS217 [-~~7 ) o 27 1 [ucHP208 267|ZM120MS267 [T o % — 2 |M6

218|ZM120MS218 [_7 U v 7/ 2 ~i—H— | 1 |1BC121-22140 268|ZM120MS268 [ A 7V v 7T vy — | 2 |M6

219|ZM120MS219 [N £ AL b 2 |M14X150 (8T) 269|ZM120MS269 [/N£7F > K 2 |M6  (S45C)

220|ZM120MS220 [V » & ¢ — 2 |M14 270|ZM120MS270 M A ~2——B 1 [2BC120-14330

221|ZM120MS221 (A 7Y v 70wy — | 2 |M14 271|ZM120MS271 [#F R L k 2 |M3%25

222|ZM120MS222 [ <447 > + 2 |M14  (S45C) 272|ZM120MS272 |7 T > F v |k 2 |M3

223|ZM120MS223 | T F = v FMAlHR 1 [2BC121-23100R 273|ZM120MS273 [ 2 ~2—H—A 2 |2BC120-14320

224|ZM120MS224 [ S 7R 1 b 6 |M12X35 (8T) 274|ZM120MS274 | /% > F - §iE 2 |P-19

225|ZM120MS225 | A 7Y v 70 » vy — | 6 [M12 275|ZM120MS275 [V F R L k 8 [M3x12

226|ZM120MS226 [<447 > + 6 |M12 (S45C) 276|ZM120MS276 | 7 5 > F v |k 8 (M3

227|ZM120MS227 |7 F = » h# T —7L— 1 |1BC120-23000 277|ZM120MS277 |/~ KL 2 |TT0-10-120B

228|ZM120MS228 | A4 ARV k 2 |M10X30 (8T) 278|ZM120MS278 [ A Y v 7T » v — | 4 |M6

229|ZM120MS229 [T » o — 2 |M10 279|ZM120MS279 [T > k 4 |M6  (S45C)

230|ZM120MS230 | A F Y 7T w3 v — | 2 [MI0 280|ZM120MS280 [#i = 72 LR (i H) 2 |TLS-100RX

231|ZM120MS231 | A fF v b 2 |M10  (S450) 281|ZM120MS281 [F~/h % 12 |M4X 10

232|ZM120MS232 (|2 F» FV > 7 1 [s-35 282|ZM120MS282 [ A 7V v 70U » v — | 12 |M4
283|7ZM120MS283 | AT b 6 |M4

234|ZM120MS234 [ K A _7 Y > 7 6 |30X34%20

235|7ZM120MS235 |7 F = v b v K A 1 [1BC120-22500

236|ZM120MS236 [ v K2 & )L 1 [1BC120-22570

237|ZM120MS237 | 7'V A = » 7L 1 (Me-A%Y

238|ZM120MS238 [ F = » R U > ” 1 [1BC121-22400

239|7ZM120MS239 |5 F = b U 7 v | 2 |1BC121-22800

240|ZM120MS240 | A 7V > 70 » v — | 2 [M12

241|ZM120MS241 [ R T 2 |M12X30 (8T)

242|ZM120MS242 [ K A _T7 Y > 7 2 |35X39X25

243|ZM120MS243 [ ia%E e v 1 [1BC121-43403

244(7ZM120MS244 [faZE e 1 |o 25H

245(ZM120MS245 |ii#sG I 4 1 |1BC121-22200

246(ZM120MS246 |isBh LN & 1 |1BC121-22700

247|ZM120MS247 | R A X7 Y 7 2 |20%x23%25

248|7ZM120MS248 |Wi#isfh Ik & 1 |1BC121-22900

249|7ZM120MS249 |F v & L | 5%30

250|ZM120MS250 |7 F = » R 3% A 2 |1BC120-22240

_13_




_14_



N=lvhvy %

FRBC-120MS

No. | #BinEH e BE B ¥ No. | #BihEH e | Bl ¥
401|ZM120MS401 |4 A % > 2 1 [2BC121-60003R 451|ZM120MS451 [T k 4 |M8  (S45C)
402|ZM120MS402 [# 7 > = > 2 hL—F | 1 |SFC 10-150 452|ZM120MS452 [/~ L7 T /83— 1 [1BC121-14000
403|ZM120MS403 [ R L b 4 [M10%25 (8T) 453|ZM120MS453 [ ARV k 4 |M8%20 (8T)
404|ZM120MS404 [ 2 7Y w70 w2 — | 4 |M10 454|7ZM120MS454 |2 SV > 7T v v — | 4 M8
405|ZM120MS405 [T+ o % — 4 [M10 455|ZM120MS455 |22 ha— LRy 7 2 | 1
406|ZM120MS406 =7 7' U —4—  (FA-35 1 |1BC120-60260 456 |ZM120MS456 |IEFe/~—F 2 1
407|ZM120MS407 |zt (8-160L) 1 |1BC120-60270 457|ZM120MS457 |ERL/ SV 7 i AN—3 2 | 1
408|ZM120MS408 |idE st H S AL R 2 [M12x35  (FFESh) | |458|ZM120MS458 |FEIF AN —F1 A 1
409|ZM120MS409 [/ <> F > 4 |@ 12.5X24Xt1.5 | |459|ZM120MS459 [FE8)E— & — 1 [=#4H200V - 7.5kW
410|ZM120MS410 | /SR b 2 |M12X25 (8T) 460|ZM120MS460 |74 /1 b 4 |M10Xx45 (8T)
411|ZM120MS411 [ V7 v yv=0 KP-C-02 | 2 [@ 13.3X20.5Xt2 | [461[ZM120MS461 |27V > 7T v v — | 4 |M10
412|ZM120MS412 | KL v F 5 7 1|1 462|ZM120MS462 [T v b 4 |M10  (S45C)
413|ZM120MS413 [ R ViAH T /LR 1|1 463|ZM120MS463 |F=—> T > 7Y 7 | 1 [5016 ¢ 38
414|ZM120MS414 [JHET & 7 & — 1 [r-09 17 464|ZM120MS464 |[F=—>H v 7V 7 | 1 [5016 @ 25
415[ZM120MS415 [JHE AR — A 1 [1"x 1400 (05-05) 70 | | 465|ZM120MS465 [F = — A > 7Y 7 | 1 |5016 WF o= —>
416|ZM120MS416 [<F > + 6 |ML12 (S45C) 466|ZM120MS466 |7 R > 7 1 [PC-3 RM67
417|ZM120MSALT (A 7D v e — | 6 |M12 467|ZM120MS467 R 77 5 ¥ L|rkHm 17
418|ZM120MS418 [T » o ¥ — 6 |M12 468|ZM120MS468 |R > T 7 5 2 1WA 171/4
419|7ZM120MS419 | A 7V v #—B 1[5 469|ZM120MS469 [+ ¥ » 7 A2 U =— (ff| 8 |M10x 45 (11T)
420(ZM120MS420 |F+1 72U v Z—AS 1 | Hid) 470(ZM120MS470 | S F 7RV b 2 |M12x45 (8T)
421|ZM120MS421 |2 F > F Y o 7 4 |S-35 471|ZM120MSA4AT1 [T » % — 2 |M12
422|ZM120MS422 | E/$o1 7 1 [1BC121-60200 472|ZMI20MSAT2 [ ATV > 70 » v — | 2 (M12
423|ZM120MS423 [ /84 73 K 20A 2 |1BC121-60240 473|ZM120MSAT3 [T > + 2 |M12  (S45C)
424|ZM120MS424 [ SR L b 4 [M10X 16 (8T) 474|ZM120MSATA [T & 7 5 — 1 |1-34 17
425|ZM120MS425 [ A 7Y v 7' 0 » vy — | 4 |M10 475|ZM120MSAT5 [JHIET & 7 & — 2 |1-34 171/4
426|ZM120MS426 [T » o ¥ — 4 |M10 476|ZM120MSAT6 |71 > 7 U > I 1 73— 1 [1BC100-14260
427|ZM120MS427 [JHE AR — A 1 |3/4x 750 (05-05) 140 | [ 477(ZM120MS477 [/SFHR /L K 4 |M8x20 (8T)
428|ZM120MS428 |3 — A 1 [1/2x 1500 (05-05) 35| |478(ZM120MS478 | 2 7V > Z'U v v — | 4 |M8
429|7ZM120MS429 [ A — A 1 [374x 750 (05-05) 140| | 479|ZM120MS479 [FF-D v ¥ % — 4 |M8
430|ZM120MS430 [JlEAR—A 1 [374x 1000 (05-05) 140| | 480|ZM120MS480 |t/ E AR — A 1 [17x 900 (05-05) 140
431|ZM120MS431 [JlEAR— A 1 |3/4x 750 (05-05) 140 | [481|ZM120MS481 |iHE AR — A 1 |1"1/4x 900 (05-05) 35
432|ZM120MS432 [JHIET & 7 & — 4 [1-34 3/4 482|ZM120MS482 | 2 Z —F v & ) Jyix 1
433(ZM120MS433 [MIET & 7" % — 1 |TR-34-A 3/4x 1/2| |483[ZM120MS483 |-+F R AfFFH~/hx ¥ 4 |M4X25
434|ZM120MS434 [T T & 7 & — 2 |1-36 3/4 484|ZM120MS484 [T » o % — 4 |4
435(ZM120MS435 |MET # 7% — 1 |T-34 1/2 485|ZM120MS485 | A Y ' 7T v vy — | 4 M4
436|ZM120MS436 |JHET & 7 % — 2 |TR-09-B 3/4X1” | | 486|ZM120MS486 | Afa7F > k 4 |4
437|ZM120MS437 |MIFET & 7" 2 — 2 |T-09 3/4 487|ZM120MS487 |E&hE— % —H —x A| 1
438|ZM120MS438 |FE = v 7)1 1 (3/4

439|ZM120MS439 | EF—= 1 [3/4

440(ZM120MS440 |[JTHEAA T A 1 |GLS-M1

441|ZM120MS441 [THEA A v F B 2 |GLS-S1

442 ZM120MS442 |+FoRAFF U hp v 6 (M4X16

443|ZM120MS443 [F-T v ¥ — 6 |M4

444|ZM120MS444 [ 2TV 7T v v — | 6 |M4

445|ZM120MS445 [<48F > 6 |M4

446|ZM120MS446 |47 7 L— bk 1

A47|ZM120MS447 (U U —Z7 17 1

448|ZM120MS448 RS L7 1

449|7ZM120MS449 [F v v T A7 U 2— 4 M8X60 (11T)

450|ZM120MS450 [ A 7Y v 70 v — | 4 |M8

_15_




AZ—=T I REHE

/504

5m\\\ —

Ry 7 AR

51 512 513
NN

< < < ||

O oo j

_16_




FRBC-120MS

RY =T N A I ERENER

No. | B Hh HE H ¥ No. | ¥BiLES i Ha B
501|ZM120MS501 [¥—% v ka7 7 #— 1 [CB CP31FM/5
502|ZM120MS502 | & A ~— 1 [TR MS4SY-AP
503|ZM120MS503 [ 4 A ~—> 4 v |k L [TR¥ % > k TP48X
504|ZM120MS504 IR T » 7 1 [AH25-ZMWM8
505|7ZM120MS505 |BiEE % % v 1 [AHX046
506|ZM120MS506 [ON PBS 1 |AH25-LR10M
507|ZM120MS507 [OFF PBS 1 |AH25-FRO1
508|ZM120MS508 | 7°F 7R v 7 & 1 [P20-45
509|ZM120MS509 |AAENAE S b, 1 [ELB EG33CM
510{ZM120MS510 |AAENHEER & 1 |OL TR-N2H
511[ZM120MS511 |AAENHEER & 1 |MCM SC-4-0 200 la
512|ZM120MS512 | hAEh A% 1 |MCA SC-4-0 200V 1b
513|ZM120MS513 | AN & 1 |MCS SC-05 200V lalb
514|ZM120MS514 [ /XD —H 75 A 1 [PS3L-F12AF

_17_




_18_



N=Ivhy s

FRBC-120TS4

FRBC-120TS2

No. | #BitE"= e B M & No. | #biLEs i E a1 I &
1 |ZM120TS1 | AA > 7 L—A 1 |2BC120-11000R 56 |ZM120TS56 [=ZJ A L 5 [1BC120-43261
2 |ZM120TS2 DAV as 9% 1 |2BC121-13610 57 |ZM120TS57 |79 R 5 [1BC120-43271
3 [ZM120TS3  |ASFA RV b 4 |M12X30 (8T) 58 [ZM120TS58  |/SFA A Z A v k 30 IM10X20 (11T)
4 [ZM120TS4  |'FT v ¥ v — 4 |M12 59 |ZM120TS59 [m7 U 27 e 2 (28
5 [ZM120TS5  |AFV 27Uy v — 4 |M12 60 |ZM120TS60 | A7V 7T v vy — 2 |M24 (fT)@dh)
6 |ZM120TS6 [T v b 4 |M12  (S45C) 61 [ZM120TS61  |[AfaF v b 2 [M24 PL5 (KRB
7 [ZM120TS7 |3 0 BREH 1 [1BC120-20010 62 lzv120ms62 % v A & — (FRBC-120TS4) | 4 |1BC120-30100
8 [ZM120TS8 |2 F > TV v 7 [s-40 % v % % — (FRBC-120TS2) | 2 |1BC120-30100
9 |ZM120TS9 [TV > 1 [UCFS308 # =W 797" (FRBC-120TS4) | 4 |6910LLU
_ 63 |ZM120TS63 f———
10 [ZM120TS10 |/SFAKRL K 4 IM16X45 (8T) & -wA 720 (FRBC-120TS2) | 2 |16910LLU
11 [ZM120TS11 | A F VU 27Uy v — | 4 |M16 7-n" A7) (FRBC-1201S4) | 4 |32910XU
64 |ZM120TS64 —
12 |ZM120TS12  |7"f5F > b 4 [M16  (S45C) F-N A7)0 (FRBC-120TS2) | 2 |32910XU
13 |ZM120TS13 |27 a4 > b #80A 3 [1BC120-20020 =i 707" (FRBC-120TS4) | 4 |6910ZZ
— 65 |ZM120TS65 F————
14 |ZM120TS14 |34 7% — 3 |12X8X40 A" 70277 (FRBC-120TS2) | 2 |6910ZZ
15 |ZM120TS15  [EvdhTr v a v 1 |1BC121-20601 #Fy7 Vs (FRBC-120TS4) | 4 [S-50
———— - 66 |ZM120TS66 —
16 [ZM120TS16 | KT A X7V 2 [45x50x20 AFy7 V07 (FRBC-120TS2) | 2 [S-50
17 |ZM120TS17 |70 2=y 7L 1 |M6-ATY < % (FRBC-120TS4) | 4 [SC 72-8N
J 7 — 67 |ZM120TS67 7{7?%( )
18 |ZM120TS18  [Af ARV 2 [M12x40 (8T7) A 7 5% (FRBC-120TS2) | 2 [SC 72-8N
19 |ZM120TS19 [RF VU 27Uy v — | 2 [M12 FRBC-120TS4 4 |500-8-8PR
J s 68 |ZM120TS68 zA%( )
20 [ZM120TS20 |AfF > b 2 |M12  (S45C) 2 A % (FRBC-120TS2) 2 |500-8-8PR
21 [ZM120TS21 |3 v 1e@Eh 1 |1BC120-20410 — 7 (FRBC-120Ts4) | 4
0TSzl 2 ”’@]% - 69 |ZM120s69 |2 7\‘( )
22 |ZM120TS22 |25V fEEhiih D 7 — A 2 |1BC120-20420 F = — 7 (FRBC-120TS2) | 2
23 |ZM120TS23 [0 (EEh#h s 7 —B 1 [1BC120-20430 70 lzmiz0ms70 A —/V (FRBC-120TS4) | 4
24 |ZM120TS24 |25V (@i 7 —C 1 [1BC120-20440 A A —/L (FRBC-120TS2) | 2
25 [ZM120TS25 | A7 w4~ b #80B 3 [1BC120-20460 21 Iovisorsi /N7 (FRBC-120TS4) 4 |1BW120-31020
26 |ZM120TS26 | KT A X7V 3 [35%39%40 N7 (FRBC-120TS2) 2 |1BW120-31020
27 [ZM120TS27 |0 T va v 2 [1BC120-20500 AR b 424y (FRBC-120TS4) | 24 [M12x 30 (8T)
72 |ZM120TS72 - -
28 |ZM120TS28 |[#&IV v 2 |@ 8X60 ARV A2y (FRBC-120182) | 12 [M12x 30 (8T)
29 [ZM120TS29 |F> v a v R L FA 2 [1BC120-20800 27" 027" Dyve- (FRBC-120784) | 24 [M12
73 |ZM120TS73 -
30 [ZM120TS30 |FV vy — 3 [M16 A7)0 9yva—(FRBC-120TS2) | 12 |M12
31 [ZM120TS31 |2 > X7 ATV o 3 |1MS600-47030 “y— AT b (FRBC-120T84) | 24 |M12  (S45C)
32 [ZM120TS32 | AfF v b 4 |M16  (S45C) AN F b (FRBC-120TS2) | 12 |M12  (S45C)
33 |ZM120TS33 |7+ a >Rk B 1 [1BC120-20900 75 lomi20ms75 Hrd (FRBC-120TS4) 4 |1BC120-30160
34 |ZM120TS34 [0 I 12 [1BC120-20200R Hrifif (FRBC-120TS2) 2 |1BC120-30160
35 [ZM120TS35 |k WY TT v+ 12 [1BC121-20350 26 Ivioots76 K=’ 7)) (FRBC-120TS4) | 8 |6206LLU
36 [ZM120TS36 |7 U A= 7L 36 [M6-ATHY =" 7)) (FRBC-120TS2) | 4 [6206LLU
37 |ZM120TS37 A7V > 7Ty vy — | 72 M8 17 lomi20ms77 f4=Vh7—(FRBC-120TS4) 8 |1BC120-31030
38 [ZM120TS38 |AfF v~ bk 72 |M8  (S450) -7 (FRBC-120TS2) 4 |1BC120-31030
39 [ZM120TS39 [V > X7 F = — 1 3 [1BC120-20390 SEU v — (FRBC-120TS4) | 8 |M16
78 |ZM120TS78
40 |ZM120TS40 |71 7 1 |1BC121-43002R U w3 — (FRBC-120TS2) | 4 [M16
41 (ZM120TS41 b 5 [1BC120-43242 27097 D94- (FRBC-120TS4) M1
Eloinl A 79 |ZM120TS79 Z 8 |16
42 |ZM120TS42 |75 X Z R L b 20 [M10x20 (117T) 27° V0 vyva—(FRBC-1201S2) | 4 |M16
43 |ZM120TS43 |71 7 BB 1 |1BC120-43510 80 [2v120Ts30 A7 b (FRBC-120TS4) | 8 [M16  (S45C)
44 [ZM120TS44 |1 ZHUFHHRA 1 |1BC120-43500R N> b (FRBC-1201S2) | 4 |M16  (S45C)
45 |ZM120TS45 |ERiEI7 v o = 2 |SA1-30B 81 |ZM120TS81  |#£3 0 B 1EAR 2 |1BC121-80010
46 [ZM120TS46 |AF w7V 7 2 |S-30 82 [ZM120TS82  [AfAaHRL 4 [M12x35 (8T)
47 [ZM120TS47 |2 F > TV o7 2 |c-47 83 [ZM120TS83 |'FU v v — 4 |M12
48 [ZM120TS48 | AfHRL b 2 [M20x80 (8T) 84 |ZM120TS84 (A F V7T v v — | 4 |MI2
49 |ZM120TS49 [T v b 4 |M20  (S45C) 85 |ZM120TS85 |7"fa+ » k 4 |M12  (S45C)
50 [ZM120TS50 |AFAHRL |k 4 [M16x85 (11T) 86 |ZM120TS86 |= L H/3—A 2 [2BC121-14510
51 |ZM120TS51 [N fF v b 8 |M16  (S45C) 87 |ZM120TS87 | A X %A 2 |2BC121-14520
52 |ZM120TS52  |F A 7 FH3& & K 2 |1BC120-43540 88 |ZM120TS88 | kT A/hxy 10 |M8 X 25
53 [ZM120TS53 |7V A= 7)1 2 |M6-A%Y 89 [ZM120TS89 |AFV 27U v v— | 10 (M8
54 |ZM120TS54 [RARNL N XY 4 |M12Xx80 (11T) 90 [ZM120TS90 [T v b 10 |M8  (S450)
55 |ZM120TS55 [~ > b 4 |M12  (S45C) 91 [ZM120TS91 | A% > K (FRBC-120TS2) | 2 [1BC120-10100
56 |ZM120TS56 [ H L 5 [1BC120-43261 92 |ZM120TS92 [% %> FE> (FRBC-1201S2) | 2 |1BC120-10200
57 |ZM120TS57 %7 H R 5 [1BC120-43271 93 |ZM120TS93 | U »F &°> (FRBC-120TS2) | 2 |@ 6% 45
58 |ZM120TS58 [/ /At F AL k 30 [M10X20 (11T)
59 |[ZM120TS59 =7 V27 v 2 (28
60 [ZMI120TS60 |AF VU 27Uy v — | 2 |M24 (fHESD)

_19_




0

g

Z

_20_



N=Ivhy s

FRBC-120TS4

FRBC-120TS2

No. | #Bim#ES A HE B ¥ No. | HBiL&E 5 4 R H LS

201|ZM120TS201 |7 F = > k 1 [1BC120-20730 251|ZM120TS251 |7 F = v R 3— 1 [2BC121-14200R

202(ZM120TS202 [ AT — 1 [12x8x%50

203|ZM120TS203 |7 F =~ RV A 1 [1BC120-22001R

204(7ZM120TS204 |7 F = v hi% D B 1 [1BC120-22101 254|ZM120TS254 | = 2 73— 1 [2BC121-14240

205|ZM120TS205 | R A X7 U 4 [40x44x20 255|ZM120TS255 | (+) 77 > bRV b 3 [M6x16 P=3

206|ZM120TS206 |7V A=v 7L 6 [M6-B7 256(ZM120TS256 |FD » v — 3 |M8

207|ZM120TS207 | A 7Y > 27T v v— | 1 |M16 257|ZM120TS257 |77 > ¥ F » bk 3 |M6

208|ZM120TS208 |7 F >~ k 1 [M16 (S45C) 258|ZM120TS258 |22 v KA 1 [1BC120-22622

209|ZM120TS209 | A2 F > FV > 7 2 [S-40 259|ZM120TS259 |2 » KB 1 [1BC120-22612

210(ZM120TS210 |7V > 7 1 [UCFS308 260|ZM120TS260 |22 v RC 1 [1BC120-22631

211|ZM120TS211 |Afa RV K 4 |M16x45 (8T) 261|ZM120TS261 |/<fF > k 1 |M24 (P1.5) HxRY

212|ZM120TS212 | A7V v 70 v v — | 4 M6 262|ZM120TS262 |7/~ v k 1 w24 (PL.B) ExRY

213|ZM120TS213 |AfaF > b 4 [M16  (S45C) 263|ZM120TS263 |75 LiAA B > 2 [1BC121-11890

214(7M120TS214 |7 F = v 7 v 7 1 |1BC121-22301 264|ZM120TS264 |FAZEE 2 |p 15

215|ZM120TS215 | KT A4 =T V> 7 2 [20x23%x25 265(ZM120TS265 |MER~R— 2 1 [2BC120-14310

216(7ZM120TS216 |7 F = b3 B 2 [1BC120-22260 266(ZM120TS266 | b7 A/ 2 [M6X 20

217|ZM120TS217 | _7 VU > 7 1 |UcHP208 267|ZM120TS267 |*F-U > % — 2 |M6

218|ZM120TS218 [ X7V v 7 2~—H— | 1 |1BC121-22140 268|ZM120TS268 | A7V 7T v v— | 2 (M6

219|ZM120TS219 |/SA AL b 2 [M14x150 (8T) 269(ZM120TS269 |/~fF > b 2 |M6  (S45C)

220|ZM120TS220 |'F-D » ¥ % — 2 (M14 270|ZM120TS270 |#hFR 2 ~—+—B 1 [2BC120-14330

221|7ZM120TS221 | A7V v 27U v vv— | 2 [M14 271|1ZM120TS271 | % AL k 2 |M3x25

222|ZM120TS222 |AfaF > b 2 [M14  (S45C) 272|ZM120TS272 | 79 > F v b 2 |M3

223|ZM120TS223 |5 F = v FMil#g 1 |2BC121-23100R 273|ZM120TS273 | MR R AL —-H-—A 2 |2BC120-14320

224|7ZM120TS224 |Afa RV K 6 [M12%35 (8T) 274|ZM120TS274 |73 F 6 2 |P-19

225(7ZM120TS225 | A7V v 70U v v — | 6. [M12 275|ZM120TS275 |V AL k 8 [M3x12

226|ZM120TS226 |AfaF > b 6 [M12 (S450C) 276|ZM120TS276 |7 7 > ¥ F w bk 8 (M3

227|ZM120TS227 |7 F =~ M7 —7 1 —| 1 [1BC120-23000 277|ZM120TS277 |/~> Rov 2 |TT0-10-120B

228|ZM120TS228 |Afa ARV K 2 [M10%30 (8T) 278|ZM120TS278 | AF VU 7T v v— | 4 |M6

229|7M120TS229 |*EV &% — 2 |M10 279|ZM120TS279 |/~f4) > b 4 |M6  (S45C)

230(ZM120TS230 A7V > 7T v v — | 2 [M10 280|ZM120TS280 |#h& 72 LR (G ) 2 [TLS-100RX

231|ZM120TS231 |/~faF > k 2 [M10  (S45C) 281|ZM120TS281 |F /4 12 [M4X 10

232|ZM120TS232 |AF v F V> 7 1 |s-35 282|ZM120TS282 | A7V 7T v v— | 12 [M4
283|ZM120TS283 [/~f4) > b 6 |M4

234|ZM120TS234 | KT A _T7 U 7 6 [30x34X20

235(ZM120TS235 |7 F = ke v K A 1 |1BC120-22500

236(ZM120TS236 |22 KX &)L 1 |1BC120-22570

237|ZM120TS237 |7V A= 7 )v 1 |M6-A%Y

238|ZM120TS238 |7 F =~ KU > 7 1 |1BC121-22400

239|ZM120TS239 |7 F =v h U7 > | 2 |1BC121-22800

240(ZM120TS240 |AF Y > 7T v v— | 2 [M12

241|ZM120TS241 | ARV K 2 [M12%30 (8T)

242|ZM120TS242 | RZ A _T V> 2 [35X39%X25

243|7ZM120TS243 |GIWrfsE v 1 |1BC121-43403

244|7M120TS244 |FAFEL 1 | 25H

245|7M120TS245 |i#sBh IR 1 |1BC121-22200

246|ZM120TS246 |i#sBh LT & 1 |1BC121-22700

247|ZM120TS247 | KT A _T Y > 7 2 [20x23%x25

248|7ZM120TS248 |i#isfs 1k & 1 |1BC121-22900

249|7ZM120TS249 |#IV &> 1 [@5x30

250(ZM120TS250 |7 F = » h 3% A 2 |1BC120-22240

_21_




102-24

_22_



N=Ivhy s

FRBC-120TS4

FRBC-120TS2

No. | #Bim#ES A E a1 I & No. | #BihdE 4 R H LS
401|ZM120TS401 | A A N2 v 1 |2BC121-60003R 451|ZM120TS451 |5fF v k 4 (M8  (S450C)
402|ZM120TS402 [#27 > 3> A hL—F | 1 |SFC 10-150 452|ZM120TS452 |73V 7 J 73— 1 |1BC121-14000R
403|ZM120TS403 |/SfFA/L K 4 [M10%25 (8T) 453|ZM120TS453 |75 f AL B 4 [M8x20 (8T)
404|7ZM120TS404 | A7V > 7T v v — | 4 [M10 454|7ZM120TS454 | A7V 70 vy — | 4 (M8
405|ZM120TS405 |SF-V » ¥ % — 4 [M10 455|ZM120TS455 |2 ha—/LR v 7 A 1
406(7ZM120TS406 |=7 7'V —4— (FA-35( 1 [1BC120-60260 456|ZM120TS456 |FEE/ N—F A 1
407|7ZM120TS407 |#idE st (8-160L) 1 |1BC120-60270 457|ZM120TS457 |EE/ V7 Fln—R A 1
408(ZM120TS408 | #HHANA AL b 2 [mi2x35 (@) | |458|ZM120TS458 |FEIFRA~N—F A 1
409|7ZM120TS409 |#E S > 4 |@12.5x24x11.5 (n) [ |459(ZM120TS459 [ a1 >k As sy 1 |AS205-700
410{ZM120TS410 |/SfFAL K 2 [M12x25 (8T) 460 [ZM120TS460 [PTOA 77 1 |1BC120-21010
411|ZM120TS411 |5 77 yb v=0 KP-C-02 | 2 [¢ 13.3X%20.5Xt2 [|461|ZM120TS461 |BRE) 7 — U — 1 |1BC120-21260
412|7M120TS412 | RV o757 111”7 462 |ZM120TS462 VAT — 1 [12x8x44
413|7ZM120TS413 | ViAFHA /LR 1|17 463|ZM120TS463 |V~/b 3 [B-87 (LK)
414|ZM120TS414 |HET &7 5 — 1 |T-09 17 464 |ZM120TS464 |7 U > 7 2 |ucP208
415|7ZM120TS415 |JHEA— A 1 |1"x 1400 (05-05) 70| [465|ZM120TS465 AR/ b 8 [M14X40 (8T)
416|7ZM120TS416 |/<faF > K 6 [M12  (S450) 466 [ZM120TS466 A7V v 27U v v — | 8 |Ml4
417|ZM120TS417 | A7V v 7T v v — | 6 [M12 467|ZM120TS467 |*EV v v % — 12 |M14
418|ZM120TS418 |'F-V v v % — 6 [M12 468 [ZM120TS468 |PTOHf % 7 —A 1 |1BC120-21020
419|ZM120TS419 |74 7> U > 4 —B 1 |#2E) 469 (ZM120TS469 |PTOHfi % 7 —B 1 |1BC120-21030
420|7ZM120TS420 |FA 7 U » Z—AS 1 | i) 470|ZM120TS470 |7—V —k=> K7L — b | 1 [1BC120-21280
421|ZM120TS421 |AF > F V7 4 [s-35 471|ZM120TS471 |ASfAHRL K 1 [M12x25 (8T)
422|7ZM120TS422 |E/ XA 7 1 |1BC121-60200 472|ZM120TS472 | ATV 70 v v — 1 |M12
423|7ZM120TS423 |34 7732 K 20A 2 [1BC121-60240 473|ZM120TS473 [PTOA Fjdifi~— 2B 1 |1BC120-21110
424|7M120TS424 |75 FA AL K 4 [M10X 16 (8T) 474|ZM120TS474 |/ AL B 2xY | 2 M12X120 (4T)
425|7ZM120TS425 | A7V > 7T v v — | 4 |M10 475|ZM120TS475 |5fF v b 2 |M12  (S45C)
426|7M120TS426 |*EV & % — 4 |M10 476|7ZM120TS476 | 7" — U —Hil 1 |1BC120-21041
427|7ZM120TS427 |MHER—A 1 |3/4x 750 (05-05) 140 | [477(ZM120TS477 |7 —V —= > 7L — k[ 1 |1BC120-21060
428|7M120TS428 |IHJEAR—A 1 [1/2x 1500 (05-05) 35 | [478|ZM120TS478 [~FHR L bk 1 IM10X25 (8T)
429|7M120TS429 |iHIEA— = 1 [3/4x 750 (05-05) 140 | | 479|ZM120TS479 | ATV L 7T v ¥ v — 1 |M10
430{ZM120TS430 |JHEA— A 1 |3/4x 1000 (05-05) 140 | |480(ZM120TS480

431|7ZM120TS431 |HEA—A 1 [3/4x 750 (05-05) 140 | [481|ZM120TS481 [FATx%— 1 [10X8x40
432|7M120TS432 |MIET &# 7 5% — 4 [1-34 3/4 482|ZM120TS482 |7 U v 7 2 |UCHP206
433|7ZM120TS433 |MIET & 7 % — 1 [TR-34-A 3/4x 1/2||483|ZM120TS483 |7 — U —#ihH 7 — 1 |1BC120-21070
434|7M120TS434 |MIET & 7 5% — 2 (136 3/4 484|7ZM120TS484 |F=—>H v 7V 7 | 1 (5016 ¢ 30
435(ZM120TS435 [MET X7 &% — 1 |T-34 1/2 485|7ZM120TS485 |F=—r v 7Y 7 | 1 (5016 @ 25
436|7ZM120TS436 |MIET &# 7 4 — 2 |TR-09-B 3/4X1” | |486|ZM120TS486 |F=—> v 7V 7 1 15016 WFx=—
437|7ZM120TS437 |MIET &# 7 5% — 2 [r-09 3/4 487|ZM120TS487 |AF v 7V > 7 1 |S-30
438|7ZM120TS438 |RE= > /L 1 [3/4 488|ZM120TS488 | /S AL~ 4 |M14x45 (8T)
439|7M120TS439 |m=/EF—A 1 [3/4 489(ZM120TS489 [*ET » v — 4 [M14
440|7M120TS440 [3EHEAR AL wF A 1 |GLS-M1 490|ZM120TS490 | A7V 7D » vy — 4 |M14
441|ZM120TS441 [(EBEAA v T B 2 |GLS-S1 491|ZM120TS491 ST > k 4 [M14  (S45C)
442|7M120TS442 | +F/RAFF S hx 6 [M4x16 492|ZM120TS492 |/~ AL b £xY | 2 M12X50 (4T)
443|7M120TS443 |FED v &% — 6 |M4 493|ZM120TS493 | ") > b 2 |M12  (S45C)
A44|ZM120TS444 | ATV 7T v v — | 6 (M4 494|7ZM120TS494 | X ¥R~ 1 |PC-5 LM67
445|ZM120TS445 | ST > k 6 (M4 495|ZM120TS495 | Ko7 75 L|Hm 17
446|ZM120TS446 |37 7 L— | 1 496 [ZM120TS496 | Ko 775 L |WEAml 171/4
447|7ZM120TS447 |V Y —T 317 1 497|ZM120TS497 |*+ v 722 Va— (HEM) | 8 |M10x 45 (11T)
448|7ZM120TS448 | &R/ /LT 1 498|ZM120TS498 | /S AR 2 [M12x45 (8T)
449|7ZM120TS449 |F ¥ v T A7 J 2 — 4 [M8x60 (117T) 499|ZM120TS499 |-V v v % — 2 (M12
450(ZM120TS450 (A 7Y v 7T v v — | 4 |M8 500(ZM120TS500 | AF YV v 7T v v — | 2 |MI12

_23_




102-24

_24_



N=Ivhy s

FRBC-120TS4

FRBC-120TS2

No. | #Bim#ES A E a1 I & No. | HBiL&E 5 i R H LS
501(ZM120TS501 |/SfF > b 2 |M12  (S450)
502|ZM120TS502 |MIET & 7 5% — 2 [T-34 171/4
503|ZM120TS503 |4 A A AT LR 1|1
504|ZM120TS504 |4 A A A =v )L 1|1
505(ZM120TS505 |MET & 7 4% — 1 |T-34 17

506 |ZM120TS506 |/ EA— R 1 [1"x 1300 (05-05) 140
507|ZM120TS507 | EAR—R 1 [1"174x 800 (05-05) 35
508|ZM120TS508 |V-~UL kAT — 1 |1BC121-14300R
509(ZM120TS509 |/Sf7A/L k 2 [M10x20 (8T)
510{ZM120TS510 | A7V > 7 U v v— [ 2 [M10
511|ZM120TS511 [V~UL k1 /3—D 1 |1BC121-14460R
512(ZM120TS512 |/ AL K 4 [M8x20 (8T)
513|ZM120TS513 | AV v 27U v v — | 4 |M8
514|ZM120TS514 |'F-V v ¥ % — 2 M8
515(ZM120TS515 |/~ > b 2 [M8 (S45C)
516|ZM120TS516 [V~L kA7 /8— 1 |1BC121-14400R
517|ZM120TS517 |45+ v 5 3 [c-77-A
518|ZM120TS518 |SWfFF 7R 12 |M3X 10
519|ZM120TS519 |7 T > ¥ F v k 12 M3
520|ZM120TS520 |fE@Eh 7 — U — 1 |1BC120-21271
521|7ZM120TS521 |fEB 7" — U —AHR A 1 |1BC120-21290
522|7ZM120TS522 |/ AR /L K 4 [M10x25 (8T)
523|ZM120TS523 |/NBES A AL b 4 [M10X25 (7T)
524|7ZM120TS524 | A7V > 70U v v — | 8 [M10
525(ZM120TS525 |[HA—w—t v k 2 [M8x30
526|ZM120TS526 |*F1TF% — 1 [10Xx8X%55

_25_




N=Ihv2 FEKXLBAT a0

EITRAA

S50

I |
| wu-=
|
CETFL-
I
No. | #ih&E 5 A E # s
1 |ZM100MS706 |/ 52+ 1 [25Mp X 1/4
2 [ZM100MS707 |2k 7 L7 L |KHB-PT3/8
3 [ZM100MS708 | B A2 2290° =k | 1 |1/4x3/8
4 [ZM100MS709 |73 n 1 [3/8x1/4
5 |ZM100MS710 [E=o—7 1 L [1/4 X L120

_26_












ik | S—1407238B

X #t 066-8555 F % H £ K # 1 0 6 1 & #h 2
TEL 0123—26—1123
FAX 0123—26—2412

FHEE XA 066-85 F @ m £ K #H 1 0 6 1 & #h 2
TEL 0123—22—5131
FAX 0123—26—2035

B X T 098-4100 XEHMEZTEFLEHOARY 119 1%FMS 4

e
Ho}
Id

TEL 0162—82—1932
FAX 0162—82—1696
L EERM 080-262 HEHAE2 251 THEH12FH 4
TEL 0155—37—3080
FAX 01556—37—5187
hiEREEEM 086-1152 #Z 2 M hEZE LB 2 TH 1 6 &F 2

TEL 0153—72—2624
FAX 0153—73—2540

EEE XM 0283172 EFERETAEEAMILFERET 11212053
TEL 0153—72—2624
FAX 0153—73—2540

il & B F AT 983-0013 EHEMATEHBERPEHF®HEA17 9 — 1
TEL 022—-388—8673
FAX 022—388—-—8735
I E ¥ P 3230158 F KA B /LR 2 5 1 2 — 1
TEL 0285—49—1500
FAX 0285—49—1560

RILHEIER 484-084 ZEHME R LT PEFEAHEES F 1
TEL 0568—69—1200
FAX 0568—69—1210

B W E ZPT 700-0973 R WLWEMWLHA FHEHE704—-103
TEL 086—243—1147
FAX 086—243—1269

g XK/ ILET 1 6 3 9 — 1
TEL 096—389—6650
FAX 096—389—6710

W E EPRT 885-1200 EBMEHW T ESHMETEGEY 1003 —2
TEL 0986—53—2222
FAX 0986—53—2233

AE A B % At 861-8030

i
>
@

0.24.07.25®



